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6 x 50% = 6.07 x 30% =
5.92 x30% = 1.24 x70% =
9.63 x40% = 0.25 x 90% =
9.57 x 80% = 2.03 x 60% =
8.78 x 10% = 0.87 x 50% =
0.26 x 70% = 3.64 x 60% =
0.24 x 80% = 0.34 x 30% =
5.99 x 10% = 547 x20% =
8.48 x 20% = 6.2 X 60% =
4.2 x20% = 8.7 x50% =
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6 x50% =3

5.92 x30% = 1.776

9.63 x 40% = 3.852

9.57 x 80% = 7.656

8.78 x 10% = 0.878

0.26 x 70% = 0.182

0.24 x 80% = 0.192

5.99 x 10% = 0.599

8.48 x 20% = 1.696

4.2 x20% = 0.84

feiep:

6.07 x 30% = 1.821

1.24 x70% = 0.868

0.25 x90% = 0.225

2.03 x60% = 1.218

0.87 x 50% = 0.435

3.64 x 60% = 2.184

0.34 x 30% = 0.102

5.47 x20% = 1.094

6.2 X 60% = 3.72

8.7 x50% = 4.35
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